= AH O
N = 0 &8 AF S & Al A
2000E = 20 A LEHSIH L JIEFSE S A
EA: doH
Mz FOIXX DI 23
CHel: O HoCR (&2 &2
- — MEE =
2N -3 - c2(3H) - NEME - HES Ol & Oll AF O HusZ
S otod 673,727 624,087 49,640
FOIXX Dlgr 25} 279,391 249,547 29,844
FOMY BHOER 122,337 121,217 1,120
QIAMEY MHIAX S 122,337 121,217 1,120
101 el 24l 9,732 9,732 0
10 JIZHHI22XsSES 9,732 9,732 0
o232 9,732
— QI 44| 35,310 » 1& » 250 8,828
—28a 8,827,500 * 10.24% 904
201 et 3| 14,515 12,095 2,420
01 AlR22ld] 7,155 4,235 2,920
Ot 7,155
—Z=JCIFFAXEH 2 X
100,000 * 50 = 4AHXt 2,000
—Hsggzs 2AEX
18,000 * 104X 122 2,160
XMz 2 50,000 * 44 200
—0I24 22tC N 2 450,000 * 43| 1,800
— QeI E AAIQI
33 » 1,00000 * 15= 495
—0oI=D| 22 125,000 * 43| 500
02 2=229H| 7,360 7,860 A500
O332=2 % HMA 7,360
—DAANE LSRR 7,360
- gt 220 * 10,0000H 2,200
=yl 1,720 = 3,0000H 5,160
301 Yt A=Z 95,590 95,590 0
05 E-2l-erEaEsgEaza 95,590 95,590 0
OcletE &=t 95,590
—2|& 91,840
s 200,000 *= 28Y * 12& 67,200
A2 200,000 * 28H * 23| 11,200
3ol &~
20,000 = 28% * 23| « 12& 13,440
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SN Aot
M FORX Dl 25
S HArzel (&2 &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
—=X 32 ABotXME S| 100,000 * 13| 100
— XS XAl &2 HIAl 2,270
SN (AESE) 180,000 * 2CH 360
NESXM(AESZ) 20,000 * 2CH 40
S IEM(E AR 30,000 = 1CH 30
NHBAZ(AESESE) 60,000 * 2CH 120
NHHAZ(AESS) 30,000 = 2CH 60
A2 (EAIL 60,000 * 1CH 60
B2 (A8s2) 300,000 * 2CH 600
B2 (AEE2) 300,000 * 2CH 600
H2ES(HAX) 400,000 * 1CH 400
—X& HIZEA =2 50,000 * 5CH 250
— AN I3 900,000 = 12& 10,800
—EAI MolEE 22 84,000 = 128 1,008
—&AI EBEIMSE 22 175,000 * 23] 350
—x SFNE o3
50,000 * 2CH * 23] 200
@) =3l 54,000
— & AbLHE 10,000, 000 10,000
—s2A0133 oA 3,000,000 3,000
—MEsdEE 1,000,000 1,000
— =232 40,000,000 40,000
OAl& &HI S AH| 10, 144
— &AL HHED] L A A2
100,000 * 6CH 600
—HMZ2AE X2l 187,000 = 12& 2,244
—0lF 2l ==2l 25,000 = 4CH 100
-2 Sl 7,000
- &AL 4,000,000 4,000
Z2X 32 1,500,000 1,500
OISt CHII & 500,000 500
2N 2 A 1,000,000 1,000




SN Aot
& QXX Ol 25}
el HAr2te (el =
SN HB -9 (3H) o . By sl e HlRE2
0 & 24
—EAN €2 1A 200,000 200
OXtgh 4 Btl 27,812
—ASESE 4,500,000 =2CH 9,000
—A83=E 5,253,000 = 2CH 10,506
—&EAaXt 8,306,000 = 1CH 8,306
401 AIEHIZLROHYI 28,000 0 28,000
01 AlI&HI 28,000 0 28,000
OHEAL HD|ti& FHI 5,000,000 5,000
Og&a HES 5,000,000 5,000
OHEA B¢ WX 4,000,000 4,000
O=Xz& 22 WA 4,000,000 4,000
OXNg & NSE=+ 10,000,000 10,000
405 XHAHFE S| 2,550 430 2,120
01 NMEESEFHSEH 2,550 430 2,120
OgZ&a 0I2& 500,000 * 1CH 500
oxMy & okt 200,000 * 8H 1,600
Ot Xg Jtolet 450,000 » 1CH 450
A2 NGAME HE 312,750 292,000 20,750
BIE® off & 312,750 292,000 20,750
A2 MEEOIALY 170,750 210,000 A 39,250
401 AIEHIZLROHY] 120,000 140,000 220,000
01 AlI&HI 120,000 140,000 220,000
OAnSMEmAN (M 120,000,000 120,000
402 2ItX=01M 50,000 70,000 A 20,000
01 QUAR=2EX 50,000 70,000 220,000
ORI HEEHAAL 50,000,000 50,000
405 XHeHFE S| 750 0 750
01 XA ESEFHSHI 750 0 750
Oodds 7 750,000 * 1CH 750
S2FY| 40,000 62,000 A22,000
401 A& HIL RO 40,000 62,000 222,000
01 Al&HI 40,000 60,000 A20,000




S Aot

=2 "
By AP
_7'(_0

el FOEH A (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
ogtde~d=el ZH == =L E(100m)
20,000,000 20,000
Ogra12(~32] ZH OtAZSM=2I](600m)
20,000,000 20,000
AGHE 22l 20,000 20,000 0
401 Al&HILL20HY| 20,000 20,000 0
01 Al&H] 20,000 20,000 0
OH0t2e| Ot23I2% M= &4 (100m)
20,000,000 20,000
2Hi2=2 HH] 82,000 0 82,000
401 Al&HIL=20HY] 82,000 0 82,000
01 Al&H] 80,000 0 80,000
OFotel W3/el2 42 AHI(100m)
20,000,000 20,000
OgAzl A= 242 HH4|(100m)
20,000,000 20,000
O&=22 2H02 W42 & XI(100m)
20,000,000 20,000
OJre1el sta=xel&dY =2 & XI(100m)
20,000,000 20,000
03 Al&=201H 2,000 0 2,000
OXSEHLAS AMLE2UHH(E2DH)
2,000,000 2,000
HESHAHH|(H2UH) 81,586 82,540 A954
ol (HoH) 12,640 12,080 560
ol 2| 12,640 12,080 560
203 YR=ZAH 11,440 10,880 560
01 JIZ2AARFAH 6,600 6,000 600
OJ|AS2HAD=TH|(H24H)
6,600,000 * 1H 6,600
02 HRAJ AR FAH 640 680 A40
OFKAIAMARE=RIH| (LAH)
40,000 * 16 640
04 BA2IH2FIH 4,200 4,200 0
OBANS2HAR =X (L424H)
350,000 » 12% 4,200
204 E DA H| 1,200 1,200 0
03 SHYLLHSZY| 1,200 1,200 0
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orrH
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H2gL(Ed2H)
A2GH(d4H)

_ _ _ Muo
A BB C(3I0) - NIRAY - BaS Ao il b o bRz
SIECEEERICEES
100,000 * 1 * 12 1,200
Jl(&otet) 68,946 70,460 A1,514
=3y 68,946 70,460 A1,514
201 sy 48,210 47,420 790
01 AR 2ell 48,210 47,420 790
OgsgY| 20,260
—=AEX 2 18,000 * 104Xt * 122 2,160
—ARE8E 7Y 100,000 * 16% 1,600
—BE Y YWPEES 150,000 * 43| 600
—= AP %2 200,000 * 2CH * 33| 1,200
—=ADI, ZRH EUS A2E
300,000 * 12CH * 23l 7,200
—gRA BP0 L ME 125,000 * 43 500
—oly U RoI2 M
50,000 * 20% * 23| 2,000
—oIRA HAI| YRE 750,000 * 204 1,500
— 04 HdY=z 250,000 * 2CH 500
—JlEr+2H| 3,000,000 3,000
O2Y+y 23,750
— =y 50,000 * 3652 18,250
— oY) 50,000 * 1102 5,500
ozl 4,200,000 4,200
202 04| 20,736 23,040 A2,304
01 =UHolb 20,736 23,040 A2,304
OJI2YS 280yl
20,000 * 162 * 62 * 122 * 90/100 20,736




